[ 2% +3 < % +9
-1l X -
Y\3: q 8. What is the relationship between these angles?
A C
\ N -3 Orres pondan
> **}_: vk 3 L 9. Solve forx. x= A
\ 1203
e +3
i _l__l X+ 9\ l.) 10. What is the measure of each angle given?
nie)+a 12¢3=_15  11x49=_158
L+ ) N B
7%

Use the figure on the right to answer each question below.

11. Angle liscalledapy Ob+use angle.

a. Acute c.Right  d. Straight ; 2
12. Angle 2 is called apy,__Q Carthe angle. - 3 4 >
b. Obtuse c. Right d. Straight /

13. Angles 2 and 3 are called _VeAtical angles.
a. Complementary b. Supplementary d. Adjacent
B.50° %o
14. If the measure of angle 1 was 130°, what would the measure of angle 2 be? ' 8
a. 130° . 20° d. 90° . ‘LLSD
15. If the measure of angle 3 was 70°, what would the measure of angle 2 be? A, 20 L1312

b. 20° c. 50° d.90°

Identify (circle YES or NO) whether the three angles given would create triangle. Give a reason to support

your answer. .
16. 25°, 75°, 85° ves orCNO)  Reason:_A5+75485 < /85 I Mush
17. 50°, 30°, 100° or NO  Reason:_90 +30 *+loo 5 |80 | 90°

18. If two sides of a triangle are 1 cm and 3 ¢m, the third side may be... @ 143 = 4 S 3

b) 2 (d) 4 cm
e mer o +#10t (b) lascamar,

19. Based on the side lengths, name the triangle from Question 18. Lsoscelen [+2=13 ¥ 3 X

s of two sides of a triangle are 5 in and 7 in, the length of the third side may not be...

20. If the leng
(b) 7 in {c)3in (d)Sin S+ =42 4& 12

21. Solve for the variable and use it to identify the missing angle measures of each triangle.

L)
2x Y Angle 1= '70 Angle 2 = 550 Angle 3 = SE_O’_”______,
ry-3 L2 m
A+ X+2012X-15 = |0 2035) |2(35-15 | 35+20/
51“5 =z 180 70 MW=-t3 55-0
x+20 2x—15 5 - -5 e 35 - _H\\_‘_f_):_s“:

¥

Scanned by CamScanner



Name:

. ','ﬁ.L
1"\,& (}/1 i

~_ _Date:

___Period:_

Mgt_IZ/[H UNIT 9 Geometric Properties Unit Review

Calculator Inactive

Classify each angle shown and write the given measures in the answer box provided.

, Final Answers

3 1. Acute Angle: 8

s 'a% 2. Obtuse Angle: A- .

. Right Angle: Q,

Q

b
2

4. mofangle A ’_qs

-~
5. mof angle B: ‘797 i

o
6. m of angle C: 99

Find the missing angle measurement. Then identify each set of angles as complementary or supplementary by

circling the correct identification.

DO NOT USE A PROTRACTOR on #7 - 14.

L+\§7 =90
F - -57
X=32°

A Y \o7°

B
7. Find the measure of angle FBA.
8. Are angle ABF and angle FBC
Complementary or Supplementary?

Z
X4 2435200
QAXAIT: G0 X 27.8°
2'3 s;z: x+35
X758y
I_1 2288350 las

F_S 27,
9. Find the measure of angle ZYG.
10. Find the measure of angle GYX

Final Answers

7.m LFAB= 3%

9.m L 2YG- 97‘ 50

10. m 2 GYx- £3.5°

! 1% S
b 0 6 03°
63° /X% W3+xe ke 142 2 )a°
WG| - ’
G U M

A X =7

11. Find the measure of angle GOA.
12. Are angle DOA and angle AOG

Complementary or Supplementarv? |

|
)
!
é
i

13. Find the measure of angle SUM.
14. Find the measure of angle GUS

42 +2 = I¥o

A< l8a
w2 e
s Ix

o
1. m 2 Goa l/?

12. Suf.phnu»iarj
13.m ./ Stm )a,o

.msos OB |
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tailroad tracks connecting cities A, B, and C form a triangle. Angle A measures 44° and Angle B measures

Find the measurement of angle C

S0 25
3_ Find the measure of angle ( 16. Classify the triangle according
¢ - ) E
28+ yy t ¥ =190 X= g o to its angles.
fy:lS'u.u -'55',‘75-' _______________________

“12 A
The sum of th( le nz,ths of the sides of this triangle is 52 m. Find the length of the
mssing side and classify the triangle as Equilateral, Scalene, or Isosceles.

I7. Find the length of the missing side.

18 Classify the tnangle according to its sides

pr—
‘_‘; 5 A K+ +I8
Cas X+\4{¥
- u g =N
- q D e
19-25. Use the diagram to find
the missing angle measures
As listed in the answer column.
Qo -13= 17 (R0 = L3344+ XK
IBO0 = Yp1tX
~{07 ':I 7
T 3+xzlge
__________________ -t -153
X=a7?

27. Find m£ MAP.

¢ (28.6)-33
5,,?\

lod S

26. Find mZMAN.

b +b+l23 =I80
b3 * (§v
“I2\3 -/23

~ and identify the triangle as Obtuse, Acute, or Right.
’V Final Answers

15. mofangle C: 55,767
16. QCaate
7 - Mm
18. Scalenc

o
19. meapN = 136"
20. msNPL = ‘W

2l.msNLP= 1 D
22. msPLM = ,Jj_:
23. m/LMP = _g_‘li_
24. mzaPM = AY c_,_
25. menm = _Q0°
26. 109,57
27. 48,5
28.
22

e

[¥]
A 4

28. Using the figure, describe the relationship between £6 and £7 Yertyead

29 Using the figure, describe the relationship between £ 1 and £5 Corm on ‘: =
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Find all of the missing angles.

IPo~96 <
\ TY

1
€91 qy,

—

fad | 2
O
s
o
£
.
~

= |-

L8 8«1\‘?*-

-
v

L
=Y

LI TR \8‘4

(To-NSz LS /
3)

L L J
2 NS Sg

£es” fyse

LS/ (s® L

L7 o Le
{
oo/ 1S

180-120 = b0

5)
(o°

L2 (w° AR
AN
9

s Lo’ V&

o

LT (20?

ko®

L!. Eﬁ
L2- 8Y°

13w 96°

4)

8)

|IS0-102 %
ks

(276 1\ 183° 1]

Le 8° 1 1e3° LS

L7 1030 \-'JK" L8

\

\

g2 JIo° 7°°‘>‘

L3 90° [ho L4
e /M1o°/ 70° LS
L? L8
#0° lo®
L2600\ 119° o4
“ll‘?‘ L(® L*
L6 L(° 5
L7 o \ L8
\

Scanned by CamScanner

La=_N
L8= 10'
LB8= l(o.

L 7= ‘7°°

te=__ng

t1a119°
L2e 61"
ea= 119°
Law bl>
s 119°

Lé=__ &1
i T= ,'qo

oo bl?



Name: Kﬂ;,}/-

— ] / )+ Review - Geometric Properties

Date: Period:
Find the missing angle(s).
1 3 . )
23° 2 L1=_10%
7 103 _
L2 L1 2= 71
L3 L4 t3=103°
v lo T
’ . La=_1
5 B
Angle = g
a) Missing angle measure:
= L o
3. | ¥ NL* 5
b) Name the triangle (based
3x-4 X on the angles):
A o
0 ko

qx-&j: I¥0
L= 3

5. Two angles are supplementary. The larger angle exceeds twice the smaller angle by 30°. Find the

angles. X v +® \
(0] 20X+
Smaller Angle: iﬁ ° X 30*

Larger Angle: /30
K+aYX +30 s | &0

2059 3o = ' u-\-%c;:!eo

Yoz

§ X:SQO

x -~
? 4 :: NP4 Ex Y 2y,
76 - o ij;;‘ f R )ﬁ“: I-EJ;
- 7 F kY
Solve for x ) 80 a) Measure of angle S = 400 1
i - -
] 28 b) Name the triangle (by angles): X*!A
L4y
Yo
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